/DVIRB

3UDFRZQLN 5RIN&DG  GU *LUHN 7RPDV] 7\J

7N 7N 7N
&KHPID NRVPHINF]QD GU *LHN 7RPDV]
o SHFHSIXUD NRVPHINF]QD &KHPID VIRVRZDQD | 7N PJU *LHN %HDID 7\J
™ GU *UHN 7RPDV] $% 1DU1aG]DQIH $ t03./ /
-03./ = FKHPINDIDPL GU *UHN
7RPDV] $% =03
&/ &/ -
> 7N 7N
L &KHPLD RUIJDQIF]QD Z &KHPLD RUIJDQIF]QD Z NUNPLQDUVINFH GU
x NU\PLQDUVINFH GU *<LUHN *|UHN 7RPDV] $ 03 6%/
N 7RPDV] $ 03 &. /
6%/ &. =
oD
D
_ 7N 7N
o SHFHSIXUD NRVPHINF]QD GU *UHN SHFHSIXUD NRVPHINF]QD GU *LUHN
7RPDV] $ t03./ 7/ 7RPDV] $ t03./ 7/
7N
=
™ 3RND]\ GU *LUHN
7RPDV] $
7\G] 7\C]
a SNDGHPLD OiRG\FK = \QDIDJFYZ GU *LHN 7RPDV] SURI GUKDE =UDERZIF] -yIHI $ SHFHSIXUD NRVPHINF]QD GU *LUHN
[ 7RPDV] $% - -
o 7\G] 7\G]
> SHFHSIXUD NRVPHINF]QD GU *UHN SHFHSIXUD NRVPHINF]QD GU *(UHN
7RPDV] $ t03.5 = 7RPDV] $ t03.5 =
—




